Warm prompt
Maybe the robot arm is different with your.But you can install it  according to the assembly manual and the photos from the website you has purchased.
If you have any questions,please don't hesitate to contact us.
Thank you very much!
1.To fasten on two u-shaped beam as shown in figure.

[image: image1.jpg]Q Touch Your Future!
— www-yfrobot-com




3. The steering wheel, steering gear installed installed on the multifunctional bracket again, pay attention to the direction of the steering gear, (below each steering gear installed pitman arm, the back is very convenient, due to the steering gear is 180 degrees, before you install the steering gear rotating to the right direction).
[image: image2.jpg]Touch Your Future!
www-yfrobot-com






 INCLUDEPICTURE "http://yfrobot.com/data/attachment/forum/201312/21/083305hllblpcs1bfzbcbf.jpg" \* MERGEFORMATINET [image: image3.jpg]Touch Your Future!
www-yfrobot-com





4. Then a multifunctional bracket is installed on the steering gear.
[image: image4.jpg]



5. In the middle of the multifunctional bracket on the left side of the mounting holes inserted M3 * 10 long screw to install the bearing
[image: image5.jpg]



6. Install the steering gear is shown in figure.
[image: image6.jpg]h Your Future!
-yfrobot-com






 INCLUDEPICTURE "http://yfrobot.com/data/attachment/forum/201312/21/083305dbncn5vycbwaqiwc.jpg" \* MERGEFORMATINET [image: image7.jpg]Touch Your Future
w-yfrobot-com





7. As shown in figure will be u-shaped bracket is installed, good bearing bolt nut.. 8. On the u-shaped bracket to install a u-shaped bracket.
[image: image8.jpg]Your Future!
yfrobot-com






 INCLUDEPICTURE "http://yfrobot.com/data/attachment/forum/201312/21/083304cpv1vy8t4ypi40v8.jpg" \* MERGEFORMATINET [image: image9.jpg]


[image: image10.jpg]Touch Your Future!
www-yfrobot-com






9. Will a u-shaped bracket and an l-shaped bracket, as shown in figure is installed.
[image: image11.jpg]Q Touch Your Future!
— www-yfrobot-com




10. To install a multifunctional bracket, pay attention to the installation direction.
[image: image12.jpg]Touch Your Future!
www-yfrobot-com





11. In the middle of the installation hole on the right side of the multifunctional bracket insert M3 * 10 long screw to install the bearing.
[image: image13.jpg]'\ Touch Your Future!
o o
U www-yfrobot-com





12. Install the steering gear.
[image: image14.jpg]Touch Your Future!
www-yfrobot-com





13. Before installed stents in good mechanical hand, and good bearing, screw the nut.
[image: image15.jpg]c Touch Your Future!

www-yfrobot-com



[image: image16.jpg]fouch Your Future!
ww-yfrobot-com





14. The two multifunctional bracket is good, pay attention to the direction.
[image: image17.jpg]Touch Your Future!
www-yfrobot-com





15. At the top of the multi-function scaffold in good steering gear, attention should be paid to the direction of the steering gear, and multifunctional bracket below the right in the middle of the mounting holes in the insert the long screw M3 * 10, in order to install the bearing.
[image: image18.jpg]Touch Your Future!
www-yfrobot-com





16. Will the steering gear is installed below, pay attention to the direction of the steering gear, screw M3 * 6 short screw.
[image: image19.jpg]‘ Touch Your Future!

W

www-yfrobot-com




17. Before good steering gear installed in mechanical hand, and good bearing, fitted with nut.
[image: image20.jpg]Touch Your Future!
www-yfrobot-com






 INCLUDEPICTURE "http://yfrobot.com/data/attachment/forum/201312/21/083303x64muu4u8s65ib6u.jpg" \* MERGEFORMATINET [image: image21.jpg]Touch Your Future!
www-yfrobot-com





18. The pitman arm as shown in figure, wrapped in mechanical paw, screw on the M3 * 6 screws (must be short screw).
[image: image22.jpg]Touch Your Future!
www-yfrobot-com






 INCLUDEPICTURE "http://yfrobot.com/data/attachment/forum/201312/21/083301stk2qckcax1atzju.jpg" \* MERGEFORMATINET [image: image23.jpg]Touch Your Future!
www-yfrobot-com





19. Install the steering gear.
[image: image24.jpg]Touch Your Future!
www-yfrobot-com






 INCLUDEPICTURE "http://yfrobot.com/data/attachment/forum/201312/21/083303n4baautwatouwwsw.jpg" \* MERGEFORMATINET [image: image25.jpg]



20. The mechanical paw is installed. 21. Done!
[image: image26.jpg]




 INCLUDEPICTURE "http://yfrobot.com/data/attachment/forum/201312/21/091500p22ufuecpunp0crc.jpg" \* MERGEFORMATINET [image: image27.jpg]ouch Your Future!
www-yfrobot-com






